[image: ]
[image: ]
[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image1.jpeg
wetry Final Study Guide

Name

1. Square ABCD has a diagonal
length of 4. Find the perime\er"]
and area of the square.

2.ADEF is an equilateral triangle (.
with an altitude of 6. Solve for DE
and find the area.

3. Given right AABC, with
hypotenuse AB, find sin A and cos
B. What do you notice?

that it is growing at an 108" angle
with the ground. The top of the
tree is 75 feet from the ground.
How tall is the tree to the nearest
thousandth foot? Draw in the
triangle on the figure below and
label with the given information.
Show work for full credit.
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4.In AFGH £G is the right angle I 5.Find m4A to the nearest la 6.Find the height of a flagpole if the (|
Wi . " | thousandth degree. . angle of elevation of the sun is 60°
andtansF = 7. Find sin’F. Q1= G and the shadow of the flagpole is 40
> & B feet. Draw a figure to represent the
o) s 1S situation. Give an exact answer.
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the wind has blown a tree so (. (8,Sarah is meeting her friends at (. | 8- How do you prove that a 7

the Castles and Coasters. She
sights the top of the Roller Coaster
at an elevation of 48°. Her eye
level is 4 ft above the ground. The
park brochure tells her the roller
coaster is 175 ft tall. How faris
Leah from the roller coaster to the
nearest thousandth foot? Draw a
figure. 1 7¢

it

¢s
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10. Given: CD = B4, and
AAbE = ACBE

7

11. Find the area of figure RSTU. */
Show work for full credit \)

12.Find the perimeter of the
quadrilateral. Show work for full

(1 e credit.
Prove: ABCD is a parallelogram )t B Give an exact answer
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13.Mr. Starling is placing a 1 |d&° Given: ABCD is a parallelogram 15.AB is a diameter in Circle O.

support beam along the diagonal
of his back wall.

The height of the wall is 5ft and
the diagonal is 5ft shorter an
M swice the width of the g4, Find
the area of the gafe’.l»ku
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and E is the midpoint of BD
Prove: Diagonals bisect each other

A,

<7

The measure of arc AX = (6x)" and
measure of arc XB = (3x)". What is
mzXOA?

(6x) <

3x)°

A B

bx f3x=18C
gx =L50
A= 20
V) 62(2(}) =
1 50°
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16.Given the circle below with a
radius of 10m and a chord that is
12m, find the distance from the
center of the circle to the chord.
Show work for full credit.

7

17.A sprinkler waters a circular
area that has a diameter of 8v3
feet. The sprinkler is located 15
feet north of the house. If the
house is located at the origin, what
is the equation of the circle for the
area that is being watered?
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18.The center of Circle Pis (1,4)
and (4, 3) is a point on the circle.

Part I: Find tfie equation of the
circle. = -

Part Il: Find another point on the

circle and show that it has the same

radius. PR
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= \‘/\ %H*}\

installed around a circular pond.
The pond has a circumference of
66 feet.The outer edge of the
path is going to be 5 feet from the
pond all the way around. What is
the approximate area of the path?
Round to the nearest thousandth.
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19.In the diagram SR is tangent 7| 20.Solve for x. «;
to the circle at Point R. SU is a
secant, SR =8, TU = 12. Solve
for SU. O
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22\Frc?cular brick path is bemg 9| 23.Use the following equation: 9| 24.Denver, Colorado has 584,234 - /?

x2+y?+6x—10y —12 = 0. Find
the equation of the circle in
standard form by completing the
square
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people vgthln 245. 8 square miles.
What is s apprOX|mate
population den5|ty?
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25.A gardener planted roses and
daisy’s in a rectangular garden
with a_width of 20 #°and a length
of 155t In 30% of the field, he
planted 12 rows of roses with 15
plants in each row. In 70% of the

26.Pepper’s 8m long leashis ¢}

/| tethered to the corner of his

expansive equilateral triangle dog
mansion. How much outdoor
territory can he roam in based on
the given figure? Round to the

27.As the delivery person for a local
pizzeria it is your job to fold up the
boxes that you deliver the pizzas in.
The chef has told you that you will
need an open-top box that is 2
inches deep with a square base. It

nearest thousandth. Use the
approximation = = 3.14

field, he planted 30 rows of
daisy’s with 50 plants in each
row.

should have a volume of 64 cubic
inches. But all you have is one big
piece of cardboard. You will need to
start by cutting it down to a square,

\{\Ihat_ is the overall density of the 8m and then you will cut smaller
field in plants per square meter? Mansion squares out of each corner and fold
on < 3 S50 e up the sides. How long should the
1 %0 500 sides of the square you start with
) be? v
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28.A shoe box has a volume of
(15x2 + 42x + 24) in®. Its base
has a length of (x + 2) inches
and a width of 3 inches. What
expression represents the height
of the shoe box?

15% t4 2+ = 30c43) hy
Fx2p1éx +38 =(xt3) h

30.Solve for x so that the volume bf7]
the U-shaped rectangular structure
is equal to 168 cm®.

29.A queen size waterbed has the /¢
following dimensions: 72 in. x 80 in.
x 7.51in. It takes 240.7 gallons of
water to fill it, which would weigh
2071 pounds. What is the weight
of a cubic foot of water? Round to
the nearest thousandth.
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31.The density of gold is 19.3 !~
grams per cubic centimeter. A
weight of 1 ounce is equivalent to
a mass of about 28.35 grams.
What is the side length of a cube-
shaped block of gold that has a
weight of 6 ounces. Round to the
nearest thousandth. Show all
work for credit. >
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32. Find the equation of a circle ¢
whose diameter has the following
endpoints (-6, 15) and (2, 7). Find 3
other points on the circle, 2 of
which form another diameter(think
45“45“ 90°)
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33. A) When determining how much

a 3'x2'x5" box, would you find
lateral area, glrface areaor
volume?

B) When determining how many
packing peanuts are needed to fill a
——1 3"x2"x5” box, would you find |ateral
area, surface area@r. iolum;?f‘

C) When determining how big of a
label is needed for up can,

. e
would you find lateral area, surface

area or volume?

paint is needed to cover all sides of 7|

34. What is the population of 32
blocks if one block is 1.2 square ('f
miles and the population density
is .9356 people per square mile.
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35. Find CB, AB, 2ZABC.
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36. Aladder 12 feet long leans (-
against a building with an angle of
elevation of 60°. Will the ladder

reach a wirdow that is 106" high?
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37. Tom delivers newspapers on
a rural route from his car. If he
throws a paper from a height of 4
ft, and it lands, 15 ft from the car,
at what angle of depression did

he throw the paper? b
D *”ifﬂ?
/ ’4 — 14.93
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38. A skirunis 1000 yd long with a
vertical drop of 208 yards. Find the
angle of depression from the top of
the ski run to the bottom. b

0 / 208

1000
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12,005 ==
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